Corfeckion 7T A, A | “{‘C’__(y
€x 4
A'.: /_91‘3)6#
= (33)°- 2n(52)x& + &
I 4 LI APy
B (Fx-5) (0x13) = (3a) -5
- 43 25 - T
< = 5)«.44]2F
= (53&) Yhoex(sa)xh 4+ 45
280 b Lo + K
D = (jk-—l) (}."‘5) & Ca ,._c_‘-,‘,lr }pa.a e m‘iﬂ‘--‘('—éﬁ U"‘-‘*?“‘QC ,f
o Gxxx + Fax [’5’)1—(-1)/()« +{-l)x/—-:)’)
—'-j?'-a-cffx-—x-;-j
= 5XL ~& x + 5
E: - (lax -ﬁ’) : b o Je.t -rkciﬁ'- =i AJ% - c(l’u""(r 'efm"(("(“
= - [ (lo:)L— 3%(10&)2&5 +fa_]
= - [ 100‘)'-1 - 180 »x + XIJ Pcwf Abﬂw‘v G - dovect ﬁf“""‘:ﬂ“"‘z
. - oo xF 4 R0 % ~ &I o pred Lol des Femss dos &
F7 | > _..-2-—- - 2
. (f T })(X) }——)
- (X,)z__ (;)& A E ouire fork Yy enanu-’“‘(t‘-u_:_/& € dirar . e

= (412'--'___1_'_'_
43

o



tx2- A’ - (2.& +8)&
= (Zx)&+ z,\c/?.x).&(f-{»-gt
= [r)'-a ¥ 32 w4 &4

g - /54 -‘7)/5.,}:;9
s (G)- 77
= 3At b3
C = (31*5)L
= (Bx) —2x (32) 3 +3°
= Fat - 6§~ + 9

:D = (?’1 -rf)(fl '?) /b Ce wfd fm-a Ceu < c(ua((vu n.muu?-néé
= Frx¥x 1—'7)&&("7’)‘%5_)(5'1 +>‘x(._.})
-:.:3511-—- lrﬁ’x +38 x -3¢
- 30wt - b2 -3

€:"()L )2- /)e“/édu.*:rwfu?{c‘{gu émb-a(ré(-(k)

z "(DLL— cixat)ca-fi)

S )
B

F- (hlm.+ 5)2“

(e e ) (_,) &)

PA
X 2 x G x>
- +

1

= r
\eo (o % # 45

"'L*_jx g4

—— _____,_..-—-—-.—"___,_...-—

lee 35 43

A



Fu3

A= (§2-8)2
= {S"z)z-zx(ﬁ)m’,,.g&
- 2T nt - 8O < +44
& = /(3":")([254—‘;9
- ()17

= 3rT - 43

C = (lox +l) (1- "9 /b o Alel P e cdat O"“'{m&

< |P=

- {2;.*,8)2-
= (21)2-1 2.*(1:),&3 -g—gL
= 4"2‘4” 2L x + £4

E-: - (ll_}n—})/'o,\k?) 45‘ A e Ju\. - . : / i
A G(VJ e AT ,é m‘{“.,{_
- ’((ION)¢.- 43) f ?

z - / |aoﬁ“—49)

o o0 x4 43
e lb )3 4
) (34‘_;)&‘ /;)‘L

|Cx™ 43

- —

3 3



